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Instructions to candidates

1.	Answer the questions according to the following instructions.

Section One: Answer all questions on the separate Multiple-choice answer sheet provided. For each question, shade in the correct answer. Use only a blue or black pen. If you make a mistake, place a cross through that square, then select your new answer. Do not erase or use correction fluid/tape. Marks will not be deducted for incorrect answers. No marks will be given if more than one answer is completed for any question.

Sections Two and Three: Write your answers in this Question/Answer Booklet.

2.	You must be careful to confine your answers to the specific questions asked and to follow any instructions that are specific to a particular question.

3.	Supplementary pages for the use of planning/continuing your answer to a question have been provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number.
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Section 1: Multiple-choice	24% (24 Marks)
This section has 24 questions. Answer all questions on the separate Multiple-choice answer sheet provided (see page 9). For each question, shade in the correct answer. Use only a blue or black pen to shade the boxes. If you make a mistake, place a cross through that square, then select your new answer. Do not erase or use correction fluid/tape. Marks will not be deducted for incorrect answers. No marks will be given if more than one answer is completed for any question.
Suggested working time: 30 minutes
______________________________________________________________________________

1.	Which one of the following is not a feature of a competitive market?
(a) 	many buyers
(b) 	many sellers
(c)	barriers to entry
(d) 	unregulated prices


2. 	The law of demand includes the statement ‘other things being equal’. These other things include all of the following except 
(a) 	the price of that good.
(b) 	consumers' income.
(c) 	consumers' tastes and preferences.
(d) 	the number of potential buyers.


3. 	For a normal good, an increase in consumer income will lead to
I.	a movement down the demand curve
II.	a rightward shift in the demand curve
III.	an increase in supply
(a)	I only
(b)	II only
(c)	III only
(d)	Both II and III


4.	During the summer months, it is likely that in a competitive market the price of woollen scarves would
(a)	increase and the quantity of woollen scarves sold would increase.
(b)	increase and the quantity of woollen scarves sold would decrease.
(c)	decrease and the quantity of woollen scarves sold would decrease.
(d)	decrease and the quantity of woollen scarves sold would increase.
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5. 	Refer to the figure above. Which of the following statements is true?
(a)	Panel A shows an increase in supply and Panel B shows a decrease in supply.
(b)	Both Panels A and B show an increase in supply.
(c)	Panel A shows a change in supply and Panel B shows a change in quantity supplied.
(d)	Panel A shows a change in quantity supplied and Panel B shows a change in supply.


6. 	Suppose that milk producers expect that the price of milk is going to fall next month. This would cause
(a)	a decrease in the supply of milk today.
(b)	an increase in the supply of milk today.
(c)	an increase in the demand for milk today.
(d)	the selling price of milk to rise today.


7. 	Roses are more expensive on Valentine's Day than at other times of the year, yet sales of roses are highest on that day. How does economic theory account for this?
(a)	People buying the roses are irrational.
(b)	Roses are not subject to the law of demand.
(c)	Suppliers decrease the supply of roses to increase the price.
(d)	An increase in demand increases the market clearing price of roses. 


8.	Which combination is most likely to result in the demand for a product being highly price elastic?
[image: ]


	(a)
	(b)
	(c)
	(d)
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9.	Andrea consumes two goods – coffee and chocolates. Her demand for coffee is price inelastic while her demand for chocolates is price elastic. If there is an increase in the price of both coffee and chocolates, Andrea’s expenditure on
(a)	both coffee and chocolates is likely to increase.
(b)	both coffee and chocolates is likely to decrease.
(c)	coffee will increase and her expenditure on chocolates will decrease.
(d)	coffee will decrease and her expenditure on chocolate will increase.


10.	Suppose that the price of eggs increases from $3 to $4 per carton and as a result a typical farmer experiences a decrease in egg sales from 300 to 200 cartons per week. Using the mid-point method, the price elasticity of demand is
(a)	0.8
(b)	1.4
(c)	1.75
(d)	3.0


11.	Tickets to an Ed Sheeran concert at the Perth Arena are an example of
(a)	perfectly elastic demand.
(b)	perfectly elastic supply.
(c)	perfectly inelastic demand.
(d)	perfectly inelastic supply.


12.	If the price of bananas increased by 25 percent, which of the following values of the cross elasticity for apples would be most reasonable to anticipate?
(a)	0.0
(b)	2.0
(c)	-2.5
(d)	-1.0


13.	The most important determinant of price elasticity of supply is the
(a)	price of the good.
(b)	number of close substitutes there are for the good.
(c)	time period firms have to adjust to the new price.
(d)	importance of the good in the budgets of consumers.


14.	In a competitive market, overproduction implies that for the last unit of the good produced 
(a)	marginal benefit equals marginal cost. 
(b)	marginal benefit exceeds marginal cost.
(c)	marginal cost exceeds marginal benefit.
(d)	the deadweight loss is zero.


See next page 


15.	Producer surplus is the difference between the
(a)	willingness to pay for the good and the marginal cost of producing the good.
(b)	marginal benefit of consuming the good and the marginal cost of producing the good.
(c)	market price and the willingness to pay for the good.
(d)	market price and the marginal cost of producing the good.


16.	Medical authorities announce that eating chocolate increases your life span. As a result, the equilibrium price of chocolate __________, the equilibrium quantity sold __________, and producer surplus ___________.
(a)	increases, increases, increases.
(b)	increases, increases, decreases.
(c)	decreases, decreases, decreases.
(d)	decreases, increases, increases.

[image: ]
17.	The diagram on the right shows the market demand curve for smoothies. What is the consumer surplus when the market price of smoothies is $4?
(a)	$500
(b)	$700
(c)	$800
(d)	$1600





18.	Chris is willing to pay $400 to see Taylor Swift in concert. The ticket price is $150 but all the tickets have been sold. If he buys a ticket from a scalper for $250 then his consumer surplus is
(a)	$100
(b)	$150
(c)	$200
(d)	$250


19.	Suppose the government considers placing a tax on business profits that would cause the businesses to decrease output and generate a deadweight loss. Revenues from the tax would fund individuals on low incomes. The decision to levy this tax implies that the government
(a)	gains from taxes.
(b)	values its view of fairness more than efficiency.
(c)	values efficiency more than its view of fairness.
(d)	values people but not businesses.
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20.	Pollution created by motor vehicle exhaust fumes is an example of a situation in which
(a)	social costs are greater than private costs.
(b)	social costs are less than private costs.
(c)	social costs are equal to social benefits.
(d)	social costs are less than social benefits.


21.	If the production of a good involves a negative externality, the 
(i)	market price of the good is higher than its optimal price.
(ii)	market price of the good is lower than its optimal price.
(iii)	market quantity of the good is higher than its optimal quantity.
(iv)	market quantity of the good is lower than its optimal quantity.
(a)	(i) and (iii)
(b)	(i) and (iv)
(c)	(ii) and (iii)
(d)	(ii) and (iv)

[image: ]
22.	The diagram on the right represents the market for vaccinations. Vaccinations are considered a benefit to society, and the diagram shows both the private benefit and the social benefit from vaccinations. The efficient equilibrium price is _____ and the efficient equilibrium quantity is _____ .
(a)	$40; 400,000
(b)	$50; 600,000
(c)	$60; 400,000
(d)	> $60; > 600,000


23.	Assume that the market clearing price for milk is $4 per litre, but that the maximum price that can be charged is $2. This is an example of
(a)	a market failing to ration a fixed quantity of a good.
(b)	a price floor that will lead to a shortage of milk on the market.
(c)	a price control that will lead to a surplus of milk on the market.
(d)	a price ceiling that will likely lead to a shortage of milk on the market. 
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24.	The government is thinking of introducing a new tax on one of the following products. On which of these goods would consumers least prefer an additional tax?
	Price elasticity of demand
	Donuts	0.4
	Pizza	0.8
	Ice cream	1.6
	Smoothies	2.0
(a)	Donuts 
(b)	Pizza 
(c)	Ice cream 
(d)	Smoothies 


______________________________________________________________________________










End of Section One
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Year 11 ATAR ECONOMICS EXAMINATION Unit 1

SECTION 1: Multiple-choice Answer Sheet


Student name: __________________________________________
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For each question, shade in the correct answer. 
Use only a blue or black pen. 
If you make a mistake, place a cross through that square, then select your new answer. Do not erase or use correction fluid/tape.


	1
	A
	B
	C
	D
	
	13 
	A
	B
	C
	D

	2
	A
	B
	C
	D
	
	14 
	A
	B
	C
	D

	3
	A
	B
	C
	D
	
	15 
	A
	B
	C
	D

	4
	A
	B
	C
	D
	
	16 
	A
	B
	C
	D

	5
	A
	B
	C
	D
	
	17
	A
	B
	C
	D

	6
	A
	B
	C
	D
	
	18
	A
	B
	C
	D

	7
	A
	B
	C
	D
	
	19
	A
	B
	C
	D

	8
	A
	B
	C
	D
	
	20
	A
	B
	C
	D

	9
	A
	B
	C
	D
	
	21
	A
	B
	C
	D

	10
	A
	B
	C
	D
	
	22
	A
	B
	C
	D

	11
	A
	B
	C
	D
	
	23
	A
	B
	C
	D

	12
	A
	B
	C
	D
	
	24
	A
	B
	C
	D
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Section Two: Data interpretation/Short answer	36% (36 Marks)

This section contains three (3) questions. Answer all questions. Write your answers in the
spaces provided.
Supplementary pages for the use of planning/continuing your answer to a question have been provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number. 
Suggested working time: 70 minutes.
________________________________________________________________________________

Question 25	(12 marks)
This question refers to the extract below.

Rockmelon sales plunge (March 2018)
The Australian Melon Association says demand for Australian rockmelons has fallen around 90 per cent after the listeria outbreak which has been linked to six deaths. The massive slump in sales is taking its toll on growers with many fruit pickers losing their jobs. Consumers are fearful of buying rockmelons across every state of Australia, even though the infected crop of rockmelons was isolated to just one NSW supplier.

(a)	Draw a demand/supply diagram to show an equilibrium price and quantity in the rockmelon market of $5 and 5 million (per month) before the listeria outbreak.
	Calculate consumer expenditure on rockmelons per month. 	(2 marks)
[image: ]
	Consumer expenditure   =   __________________________________________________
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(b)	Explain two non-price factors affecting the demand for rockmelons and two non-price factors affecting the supply of rockmelons.	(4 marks)
Factors affecting the demand for rockmelons
1. ____________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
2. ____________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
Factors affecting the supply of rockmelons
1. ____________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
2. ____________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________

(c)	Show on the diagram below the effect of the listeria outbreak on the rockmelon market. Identify which curve will shift and explain the effect on equilibrium price, equilibrium quantity and producers’ revenue.	(3 marks)
[image: ]
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______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________


(d)	Identify one substitute for rockmelons and explain, using a diagram, the effect of the change in the rockmelon market on the substitute good.	(3 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
[image: ]
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Question 26	(12 marks)
Refer to the following demand/supply schedule:
	Price ($)
	Quantity demanded
	Quantity supplied
	Quantity supplied
after a $15 tax

	45
	100
	1600
	

	40
	200
	1400
	

	35
	300
	1200
	

	30
	400
	1000
	

	25
	500
	800
	

	20
	600
	600
	

	15
	700
	400
	

	10
	800
	200
	

	5
	900
	0
	



(a) i.	What is the equilibrium price and quantity for this good?	(1 mark)
______________________________________________________________________________

ii.	At what price would total revenue be maximised? What is the price elasticity of demand at this price?	(2 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________

(b)	Suppose the government imposes a $15 per unit tax on sellers of this good. 

i.	Complete the column in the table showing the quantity supplied after the tax.	(2 marks)

ii.	What is the new equilibrium price and quantity for this good? 	(1 mark)
______________________________________________________________________________

iii.	How much revenue will the government collect from the tax?	(1 mark)
______________________________________________________________________________

iv. 	Calculate the price elasticity of demand between the original equilibrium price and the new equilibrium price (use the point method). Is demand price elastic or price inelastic? 	(2 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
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(c)	Explain the meaning of tax incidence. Indicate who bears the greater tax burden in this case and explain why.	(3 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
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Question 27	(12 marks)
This question refers to the extract below.
A floor price for alcohol?
The WA government is contemplating introducing a price floor for alcohol to stop retailers selling cheap alcohol to binge and hardened drinkers. The government believes that it would reduce both alcohol-related crime and health problems. At the moment, some WA retailers are selling alcohol for less than 40 cents per standard drink. One retailer, for example, has both red and white wine for as little as $2.69 a bottle. If a $1 per standard drink floor price was introduced in WA, the cheapest a bottle of wine could sell for would be $7.70. Previous research has shown that a 10 per cent increase in the minimum price of alcoholic drinks led to a 3.4 per cent reduction in the consumption of alcohol and a 9 per cent drop in alcohol-related hospital admissions.

(a)	What is a price floor? Explain the purpose of a price floor in the alcohol market.	(2 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________

(b)	Explain the effect of a $1 per standard drink price floor on the alcohol market and use the diagram below to show what happens to quantity supplied and quantity demanded.	(3 marks)
[image: ]__________________________________
__________________________________
__________________________________
__________________________________
__________________________________
__________________________________
__________________________________
__________________________________
__________________________________
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(c)	Identify two external costs of alcohol consumption.	(2 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
(d)	Who will benefit from the price floor and who will lose? Explain how the price floor will affect market efficiency referring to the changes to consumer and producer surplus.	(5 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
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Section Three: Extended answer	40% (40 Marks)

This section contains four (4) questions. Answer two (2) questions. Write your answers in the lined pages provided and number your answers clearly.
Supplementary pages for the use of planning/continuing your answer to a question have been provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number.
Suggested working time: 80 minutes.
______________________________________________________________________________

Question 28	(20 marks)

(a)	Explain the differences between a competitive and an imperfect market.
		(6 marks)

(b)	Define the concept of market power and use a model to explain how market power can influence market efficiency.	(8 marks)

(c)	Explain the role and purpose of the Australian Competition and Consumer Commission (ACCC) in preventing business practices that reduce competition.	(6 marks)
______________________________________________________________________________

Question 29	(20 marks)

(a)	Explain the meaning of price elasticity of supply and, using a diagram(s), distinguish between price elastic and price inelastic supply. 	(6 marks)

(b)	Discuss three factors that would cause the demand for a good to be relatively price elastic.
		(6 marks)

(c)	Explain how economists use the concept of elasticity to distinguish between normal and inferior goods and between substitutes and complements. 	(8 marks)
______________________________________________________________________________

Question 30	(20 marks)

(a)	Define the concepts of ‘rivalry’ and ‘excludability’. Use these concepts to distinguish between private goods, public goods, club goods and common property goods. Provide an example of each of these types of good.	(10 marks)

(b)	Explain why the market fails for two of these types of goods and discuss two policy options that the government could use to resolve these examples of market failure.	(10 marks)
______________________________________________________________________________
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Question 31	(20 marks)

(a)	Explain the concepts of equity (both horizontal and vertical) and market efficiency.	(8 marks)

(b)	To offset rising avocado prices and to encourage healthy eating, the government considers two policy options:
	i.	a price ceiling on avocados
	ii.	paying a subsidy to avocado growers.
	Using separate diagrams, explain how each of these policies would operate to reduce the price of avocadoes. Discuss the effect of these policy options on both equity and market efficiency.	(12 marks)
______________________________________________________________________________
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